
Subject: Re: Fractional SHIFT
Posted by the_cacc on Tue, 04 Dec 2001 13:34:51 GMT
View Forum Message <> Reply to Message

Oops - should NOT be 9.5 ! As Dick Jackson pointed out to me, I am
constructing a weighted linear combination of surrounding values, so
it should be 4.5. I was trying to construct a simple example, and took
my mind off the numbers just long enough to press 'Post message - No
preview'.

Thanks for the suggestions everyone.

Ciao.

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=4084
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=14756&goto=28336#msg_28336
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=28336
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

